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QUESTION 1

A vSphere Standard Switch has been configured for IP-based load balancing using two uplinks. A new uplink is added
to the vSwitch. What is the status of the uplink by default?

A. The uplink is placed in standby mode until it is added to the active NIC team.
B. The uplink is marked as active but does not participate in the active NIC team until assigned to a port group.

C. The uplink is marked as active, but cannot be used by the active NIC team until it is added to the existing 802.3ad
group on the physical switch.

D. The uplink is marked as unused until it is added to the active NIC team.

Correct Answer: C

QUESTION 2

An administrator has two ESXi 5.x hosts. Each host has two resource pools, Production and Test and a vApp named
TestvAppOl. What is true when these hosts are added to a DRS cluster?

A. An option is given during the process to graft the pools under the cluster\\'s root pool, the vApp will be removed.
B. An option is given during the process to graft the pools and vApp under the cluster\\'s root pool.

C. The resource pools and vApp are automatically grafted into the cluster under the root pool.

D. The resource pools and vApp are automatically removed when the host is added.

Correct Answer: A

QUESTION 3

An administrator is enabling Network 1/O Control (NIOC) on a vSphere Distributed Switch. Which types of network traffic
can be prioritized with NIOC by default? (Choose three.)

A. FCP Traffic

B. NFS Traffic

C. Virtual Machine Traffic By Virtual Machine
D. iSCSI Traffic

E. vSphere Replication (VR) Traffic

Correct Answer: BDE

QUESTION 4
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Which two storage adapters require no VMkernel ports? (Choose two.)
A. Independent Hardware iSCSI Adapter

B. iSCSI Software Adapter

C. Dependent iISCSI Adapter

D. Fibre Channel HBA

Correct Answer: AD

QUESTION 5

Click the Exhibit button. An administrator has a DRS/HA cluster with five ESXi 5.x hosts. When the administrator tries to
start a new Web server virtual machine, an error is displayed saying insufficient resources exist for HA . Based on the
HA configuration in the exhibit, which two changes can resolve the issue? (Choose two.)
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A. Shut down one or more virtual machines on the cluster.
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B. Set VM Restart Priority to Disabled for the Web server.
C. Set Host Isolation response to Shut down.
D. Suspend one or more virtual machines in the cluster.

Correct Answer: AD
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